

# *Mathematical Journal of Okayama University*

---

*Volume 47, Issue 1*

2005

*Article 15*

JANUARY 2005

---

## Ramanujan's Mock Theta Functions

Bhaskar Srivastava\*

\*Lucknow University

Copyright ©2005 by the authors. *Mathematical Journal of Okayama University* is produced by  
The Berkeley Electronic Press (bepress). <http://escholarship.lib.okayama-u.ac.jp/mjou>

Math. J. Okayama Univ. **47** (2005), 163–174

## RAMANUJAN'S MOCK THETA FUNCTIONS

BHASKAR SRIVASTAVA

### 1. INTRODUCTION

In his last letter to G. H. Hardy, S. Ramanujan wrote, " I discovered very interesting functions recently which I call mock theta functions". He also gave a long list of 'third order', 'fifth order' and 'seventh order' mock theta functions together with identities satisfied by them. All the results on third and fifth order mock theta functions were proved by G. N. Watson in his two celebrated papers [8,9].

Andrews rediscovered Ramanujan's notebook while visiting Cambridge University and called it Ramanujan's 'lost' notebook. The 'lost' notebook contains several further results on mock theta functions which were proved by Andrews [1,2], Andrews and Garvan [3], Andrews and Hickerson [4]. Lastly the 'lost' notebook contains eight identities for the tenth order mock theta function. Choi [5] has proved the first two of Ramanujan's tenth order mock theta function identities and said that further identities will be proved in subsequent papers.

In this paper we have given relations and expansions of partial mock theta functions, mock theta functions of tenth, third, fifth and sixth order. We have also given two Continued Fractions for tenth order mock theta functions.

In section 4, we give a proof of a simple identity. In section 5, using this identity we connect the tenth order mock theta functions, partial tenth order mock theta functions with mock theta functions, partial mock theta functions of third, fifth, and sixth order. In section 6, we give relations between fifth order mock theta functions and third order mock theta functions and their partial sums. In section 7, we have given expansions of a tenth order mock theta functions in terms of partial mock theta function of tenth order.

In section 8, we have proved two lemmas and with the help of these lemmas expressed the tenth order mock theta functions as a Continued Fraction.

### 2. NOTATION

The following  $q$ -notations have been used.

---

*Mathematics Subject Classification.* 33D.

*Key words and phrases.* Mock theta function, Partial mock theta functions, Continued Fractions.

For  $|q^k| < 1$ ,

$$\begin{aligned}(a; q^k)_n &= \prod_{j=0}^{n-1} (1 - aq^{kj}), \quad n \geq 1 \\ (a; q^k)_0 &= 1, \\ (a; q^k)_\infty &= \prod_{j=0}^{\infty} (1 - aq^{kj}), \\ (a)_n &= (a; q)_n, \\ (a_1, a_2, \dots, a_m; q^k)_n &= (a_1; q^k)_n (a_2; q^k)_n \cdots (a_m; q^k)_n.\end{aligned}$$

A generalized basic hypergeometric series with base  $q_1$  is defined as

$$\begin{aligned}_A\phi_{A-1} [a_1, a_2, \dots, a_A; b_1, b_2, \dots, b_{A-1}; q_1, z] \\ = \sum_{n=0}^{\infty} \frac{(a_1; q_1)_n \cdots (a_A; q_1)_n z^n}{(b_1; q_1)_n \cdots (b_{A-1}; q_1)_n (q; q_1)_n}, \quad |z| < 1.\end{aligned}$$

### 3. DEFINITION OF PARTIAL MOCK THETA FUNCTIONS

Third order mock theta functions, (Watson [8])

$$\begin{aligned}f(q) &:= \sum_{n=0}^{\infty} \frac{q^{n^2}}{(-q)_n^2}, \\ \Phi(q) &:= \sum_{n=0}^{\infty} \frac{q^{n^2}}{(-q^2; q^2)_n}, \\ \Psi(q) &:= \sum_{n=0}^{\infty} \frac{q^{n^2}}{(q; q^2)_n}, \\ \gamma(q) &:= \sum_{n=0}^{\infty} \frac{q^{n(n+1)}}{(-q; q^2)_{n+1}}.\end{aligned}$$

Fifth order mock theta functions, (Watson [9])

$$\begin{aligned}f_0(q) &:= \sum_{n=0}^{\infty} \frac{q^{n^2}}{(-q; q)_n}, \\ F_0(q) &:= \sum_{n=0}^{\infty} \frac{q^{2n^2}}{(q; q^2)_n}.\end{aligned}$$

Sixth order mock theta functions, (Andrews and Hickerson [4])

$$\begin{aligned}\Phi_L(q) &:= \sum_{n=0}^{\infty} \frac{(-1)^n q^{n^2} (q; q^2)_n}{(-q)_{2n}}, \\ \Psi_L(q) &:= \sum_{n=0}^{\infty} \frac{(-1)^n q^{(n+1)^2} (q; q^2)_n}{(-q)_{2n+1}}, \\ \rho_L(q) &:= \sum_{n=0}^{\infty} \frac{q^{n(n+1)/2} (-q)_n}{(q; q^2)_{n+1}}, \\ \sigma_L(q) &:= \sum_{n=0}^{\infty} \frac{q^{(n+1)(n+2)/2} (-q)_n}{(q; q^2)_{n+1}}.\end{aligned}$$

To distinguish these functions from the others in notation, we have put a suffix  $L$  in their symbols.

Tenth order mock theta functions, ( Choi [5] )

$$\begin{aligned}\Phi_R(q) &:= \sum_{n=0}^{\infty} \frac{q^{n(n+1)/2}}{(q; q^2)_{n+1}}, \\ \Psi_R(q) &:= \sum_{n=0}^{\infty} \frac{q^{(n+1)(n+2)/2}}{(q; q^2)_{n+1}}, \\ X_R(q) &:= \sum_{n=0}^{\infty} \frac{(-1)^n q^{n^2}}{(-q; q)_{2n}}, \\ \chi_R(q) &:= \sum_{n=0}^{\infty} \frac{(-1)^n q^{(n+1)^2}}{(-q; q)_{2n+1}}.\end{aligned}$$

To distinguish these functions from the others in notation, we have put a suffix  $R$  in their symbols.

By taking the partial sums of the series defining the mock theta functions from 0 to  $N$  we have partial mock theta functions. We put  $N$  in the suffix to denote the partial sum from 0 to  $N$ . Thus partial mock theta functions of tenth order will be

$$\Phi_{RN}(q) := \sum_{n=0}^N \frac{q^{n(n+1)/2}}{(q; q^2)_{n+1}}.$$

Similar notation will be used for the other tenth order mock theta functions and mock theta functions of third order, fifth order and sixth order.

#### 4. MAIN SUMMATION FORMULA

We give a proof of the following identity

$$(4.1) \quad \sum_{\gamma=0}^p \alpha_{\gamma} \beta_{\gamma} = \beta_{p+1} \sum_{\gamma=0}^p \alpha_{\gamma} + \sum_{m=0}^p (\beta_m - \beta_{m+1}) \sum_{\gamma=0}^m \alpha_{\gamma}.$$

*Proof.* The proof is a simple rearrangement of series

$$\begin{aligned} \sum_{m=0}^p (\beta_m - \beta_{m+1}) \sum_{\gamma=0}^m \alpha_{\gamma} &= (\beta_0 - \beta_1) \alpha_0 + (\beta_1 - \beta_2) \sum_{\gamma=0}^1 \alpha_{\gamma} \\ &\quad + (\beta_2 - \beta_3) \sum_{\gamma=0}^2 \alpha_{\gamma} + \cdots + (\beta_p - \beta_{p+1}) \sum_{\gamma=0}^p \alpha_{\gamma} \\ &= \alpha_0 \beta_0 + \alpha_1 \beta_1 + \cdots + \alpha_p \beta_p \\ &\quad - \beta_{p+1} (\alpha_0 + \alpha_1 + \cdots + \alpha_p) \\ &= \sum_{\gamma=0}^p \alpha_{\gamma} \beta_{\gamma} - \beta_{p+1} \sum_{\gamma=0}^p \alpha_{\gamma}, \end{aligned}$$

which proves (4.1). □

#### 5(a). RELATION BETWEEN TENTH ORDER PARTIAL MOCK THETA FUNCTIONS AND TENTH ORDER MOCK THETA FUNCTIONS

(i) Taking  $\alpha_{\gamma} = \frac{q^{\gamma(\gamma+1)/2}}{(q; q^2)_{\gamma+1}}$ ,  $\beta_{\gamma} = q^{\gamma+1}$  in (4.1), we have

$$(5.1) \quad \Psi_{Rp}(q) = q^{p+2} \Phi_{Rp}(q) + (1-q) \sum_{m=0}^p q^{m+1} \Phi_{Rm}(q).$$

(ii) Letting  $p \rightarrow \infty$  in (i), we have

$$(5.2) \quad \Psi_R(q) = (1-q) \sum_{m=0}^{\infty} q^{m+1} \Phi_{Rm}(q).$$

(iii) Taking  $\alpha_{\gamma} = \frac{q^{\gamma(\gamma+1)/2}}{(q; q^2)_{\gamma+1}}$ ,  $\beta_{\gamma} = (q; q^2)_{\gamma+1}$  and letting  $p \rightarrow \infty$  in (4.1), we have

$$(5.3) \quad \Psi(q) = (q; q^2)_{\infty} \Phi_R(q) + \sum_{m=0}^{\infty} (q; q^2)_{m+1} q^{2m+3} \Phi_{Rm}(q),$$

where

$$\Psi(q) = \sum_{n=0}^{\infty} q^{n(n+1)/2}.$$

(iv) Taking  $\alpha_\gamma = \frac{q^{(\gamma+1)(\gamma+2)/2}}{(q; q^2)_{\gamma+1}}$ ,  $\beta_\gamma = \frac{1}{q^{\gamma+1}}$  in (4.1), we have

$$(5.4) \quad q^{p+2}\Phi_{Rp}(q) = \Psi_{Rp}(q) - (1-q) \sum_{m=0}^p q^{p-m}\Psi_{Rm}(q),$$

(v) Now

$$(5.5) \quad \begin{aligned} X_{Rm}(q) &= \sum_{\gamma=0}^m \frac{(-1)^\gamma q^{\gamma^2}}{(-q; q)_{2\gamma}} \\ &= \sum_{\gamma=0}^m \frac{(-1)^\gamma q^{\gamma^2} (1+q^{2\gamma+1})}{(-q; q)_{2\gamma+1}} \\ &= \sum_{\gamma=0}^m \frac{(-1)^\gamma q^{\gamma^2}}{(-q; q)_{2\gamma+1}} + \chi_{Rm}(q). \end{aligned}$$

Taking  $\alpha_\gamma = \frac{(-1)^\gamma q^{\gamma^2}}{(-q; q)_{2\gamma+1}}$ ,  $\beta_\gamma = q^{2\gamma+1}$  in (4.1) and using (5.5), we have

$$(5.6) \quad \begin{aligned} \sum_{m=0}^p q^{2m}(X_{Rm}(q) - \chi_{Rm}(q)) &= -\frac{q^{2p+2}}{1-q^2}(X_{Rp}(q) - \chi_{Rp}(q)) \\ &\quad + \frac{1}{q(1-q^2)}\chi_{Rp}(q). \end{aligned}$$

(vi) Making  $p \rightarrow \infty$  in (v), we have

$$(5.7) \quad \chi_R(q) = (1-q^2) \sum_{m=0}^{\infty} q^{2m+1}(X_{Rm}(q) - \chi_{Rm}(q)).$$

#### 5(b). RELATION BETWEEN TENTH ORDER MOCK THETA FUNCTIONS AND SIXTH ORDER MOCK THETA FUNCTIONS

In this section we connect all the four tenth order mock theta functions with sixth order mock theta functions.

(i) Taking  $\alpha_\gamma = \frac{(-1)^\gamma q^{\gamma^2} (q; q^2)_\gamma}{(-q; q)_{2\gamma}}$ ,  $\beta_\gamma = \frac{1}{(q; q^2)_\gamma}$  in (4.1), we have

$$(5.8) \quad X_{Rp}(q) = \frac{\Phi_{Lp}(q)}{(q; q^2)_{p+1}} - \sum_{m=0}^p \frac{q^{2m+1}}{(q; q^2)_{m+1}} \Phi_{Lm}(q).$$

(ii) Letting  $p \rightarrow \infty$  in (i), we have

$$(5.9) \quad X_R(q) = \frac{\Phi_L(q)}{(q; q^2)_\infty} - \sum_{m=0}^{\infty} \frac{q^{2m+1}}{(q; q^2)_{m+1}} \Phi_{Lm}(q).$$

(iii) Taking  $\alpha_\gamma = \frac{(-1)^\gamma q^{(\gamma+1)^2} (q; q^2)_\gamma}{(-q; q)_{2\gamma+1}}$ ,  $\beta_\gamma = \frac{1}{(q; q^2)_\gamma}$  in (4.1), we have

$$(5.10) \quad \chi_{Rp}(q) = \frac{\Psi_{Lp}(q)}{(q; q^2)_{p+1}} - \sum_{m=0}^p \frac{q^{2m+1}}{(q; q^2)_{m+1}} \Psi_{Lm}(q).$$

(iv) Letting  $p \rightarrow \infty$  in (iii), we have

$$(5.11) \quad \chi_R(q) = \frac{\Psi_L(q)}{(q; q^2)_\infty} - \sum_{m=0}^{\infty} \frac{q^{2m+1}}{(q; q^2)_{m+1}} \Psi_{Lm}(q).$$

(v) Taking  $\alpha_\gamma = \frac{q^{\gamma(\gamma+1)/2} (-q; q)_\gamma}{(q; q^2)_{\gamma+1}}$ ,  $\beta_\gamma = \frac{1}{(-q; q)_\gamma}$  in (4.1), we have

$$(5.12) \quad \Phi_{Rp}(q) = \frac{\rho_{Lp}(q)}{(-q; q)_{p+1}} + \sum_{m=0}^p \frac{q^{m+1}}{(-q; q)_{m+1}} \rho_{Lm}(q).$$

(vi) Letting  $p \rightarrow \infty$  in (v), we have

$$(5.13) \quad \Phi_R(q) = \frac{\rho_L(q)}{(-q; q)_\infty} + \sum_{m=0}^{\infty} \frac{q^{m+1}}{(-q; q)_{m+1}} \rho_{Lm}(q).$$

(vii) Taking  $\alpha_\gamma = \frac{q^{(\gamma+1)(\gamma+2)/2} (-q; q)_\gamma}{(q; q^2)_{\gamma+1}}$ ,  $\beta_\gamma = \frac{1}{(-q; q)_\gamma}$  in (4.1), we have

$$(5.14) \quad \Psi_{Rp}(q) = \frac{\sigma_{Lp}(q)}{(-q; q)_{p+1}} + \sum_{m=0}^p \{q^{m+1} (-q; q)_{m+1}\} \sigma_{Lm}(q).$$

(viii) Letting  $p \rightarrow \infty$  in (vii), we have

$$(5.15) \quad \Psi_R(q) = \frac{\sigma_L(q)}{(-q; q)_\infty} + \sum_{m=0}^{\infty} \{q^{m+1} (-q; q)_{m+1}\} \sigma_{Lm}(q).$$

### 5(c). RELATION BETWEEN TENTH ORDER MOCK THETA FUNCTIONS AND THIRD ORDER MOCK THETA FUNCTIONS

(i) Taking  $\alpha_\gamma = \frac{q^{\gamma(\gamma+1)}}{(-q; q^2)_{\gamma+1}}$ ,  $\beta_\gamma = \frac{1}{(q; q^2)_{\gamma+1}}$  in (4.1), we have

$$(5.16) \quad \Phi_{Rp}(q^2) = \frac{\gamma_p(q)}{(q; q^2)_{p+2}} - \sum_{m=0}^p \frac{q^{2m+3}}{(q; q^2)_{m+2}} \gamma_m(q).$$

(ii) Letting  $p \rightarrow \infty$  in (i), we have

$$(5.17) \quad \Phi_R(q^2) = \frac{\gamma(q)}{(q; q^2)_\infty} - \sum_{m=0}^{\infty} \frac{q^{2m+3}}{(q; q^2)_{m+2}} \gamma_m(q).$$

(iii) Taking  $\alpha_\gamma = \frac{(-1)^\gamma q^{\gamma^2}}{(-q^2; q^2)_\gamma}$ ,  $\beta_\gamma = \frac{1}{(-q; q^2)_\gamma}$  in (4.1), we have

$$(5.18) \quad X_{Rp}(q) = \frac{\Phi_p(-q)}{(-q; q^2)_{p+1}} + \sum_{m=0}^p \frac{q^{2m+1}}{(-q; q^2)_{m+1}} \Phi_m(-q).$$

(iv) Letting  $p \rightarrow \infty$  in (iii), we have

$$(5.19) \quad X_R(q) = \frac{\Phi(-q)}{(-q; q^2)_\infty} + \sum_{m=0}^{\infty} \frac{q^{2m+1}}{(-q; q^2)_{m+1}} \Phi_m(-q).$$

(v) Taking  $\alpha_\gamma = \frac{(-1)^\gamma q^{\gamma^2}}{(-q; q^2)_\gamma}$ ,  $\beta_\gamma = \frac{1}{(-q^2; q^2)_\gamma}$  in (4.1), we have

$$(5.20) \quad X_{Rp}(q) = \frac{1}{(-q^2; q^2)_{p+1}} \Psi_p(-q) + \sum_{m=0}^p \frac{q^{2m+2}}{(-q^2; q^2)_{m+1}} \Psi_m(-q).$$

(vi) Letting  $p \rightarrow \infty$  in (v), we have

$$(5.21) \quad X_R(q) = \frac{1}{(-q^2; q^2)_\infty} \Psi(-q) + \sum_{m=0}^{\infty} \frac{q^{2m+2}}{(-q^2; q^2)_{m+1}} \Psi_m(-q).$$

## 6. RELATIONS BETWEEN FIFTH ORDER MOCK THETA FUNCTIONS AND THIRD ORDER MOCK THETA FUNCTIONS AND THEIR PARTIAL SUMS

(i) Taking  $\alpha_\gamma = \frac{q^{\gamma^2}}{(-q; q)_\gamma}$ ,  $\beta_\gamma = \frac{1}{(-q; q)_\gamma}$  in (4.1), we have

$$(6.1) \quad f_p(q) = \frac{1}{(-q; q)_{p+1}} f_{0p}(q) + \sum_{m=0}^p \frac{q^{m+1}}{(-q; q)_{m+1}} f_{0m}(q).$$

(ii) Letting  $p \rightarrow \infty$  in (i), we have

$$(6.2) \quad f(q) = \frac{1}{(-q; q)_\infty} f_0(q) + \sum_{m=0}^{\infty} \frac{q^{m+1}}{(-q; q)_{m+1}} f_{0m}(q).$$

(iii) Taking  $\alpha_\gamma = \frac{q^{\gamma^2}}{(q; q^2)_\gamma}$ ,  $\beta_\gamma = q^\gamma$  in (4.1), we have

$$(6.3) \quad F_{0p}(q) = q^{(p+1)^2} \Psi_p(q) + \sum_{m=0}^p \left\{ q^{m^2} (1 - q^{2m+1}) \right\} \Psi_m(q).$$

(iv) Letting  $p \rightarrow \infty$  in (iii), we have

$$(6.4) \quad F_0(q) = \sum_{m=0}^{\infty} q^{m^2} (1 - q^{2m+1}) \Psi_m(q).$$



# 7. EXPANSION OF TENTH ORDER MOCK THETA FUNCTION IN TERMS OF PARTIAL MOCK THETA FUNCTION OF TENTH ORDER

(i) Taking  $\alpha_\gamma = \frac{q^{\gamma(\gamma+1)/2}}{(q; q^2)_{\gamma+1}}$ ,  $\beta_\gamma = q^{\gamma+1}$  in (4.1), we have

$$(7.1) \quad \Psi_{Rp}(q) = q^{p+2} \Phi_{Rp}(q) + (1-q) \sum_{m=0}^p q^{m+1} \Phi_{Rm}(q).$$

(ii) Letting  $p \rightarrow \infty$  in (i), we have

$$(7.2) \quad \Psi_R(q) = (1-q) \sum_{m=0}^{\infty} q^{m+1} \Phi_{Rm}(q).$$

(iii) Taking  $\alpha_\gamma = \frac{(-1)^\gamma q^{\gamma^2}}{(-q; q)_{2\gamma}}$ ,  $\beta_\gamma = \frac{q^{2\gamma+1}}{1+q^{2\gamma+1}}$  in (4.1), we have

$$(7.3) \quad \chi_{Rp}(q) = \frac{q^{2p+3}}{1+q^{2p+3}} X_{Rp}(q) + (1-q^2) \sum_{m=0}^p \frac{q^{2m+1}}{(1+q^{2m+1})(1+q^{2m+3})} X_{Rm}(q).$$

(iv) Letting  $p \rightarrow \infty$  in (iii), we have

$$(7.4) \quad \chi_R(q) = (1-q^2) \sum_{m=0}^{\infty} \frac{q^{2m+1}}{(1+q^{2m+1})(1+q^{2m+3})} X_{Rm}(q).$$

# 8. CONTINUED FRACTION REPRESENTATION

We shall prove two lemmas and then with the help of these lemmas express these tenth order mock theta functions as continued fractions.

We define

$$(8.1) \quad A(\alpha; q) = \sum_{n=0}^{\infty} \frac{(-1)^n q^{n^2} \alpha^{2n}}{(-\alpha q; q)_{2n}},$$

$$(8.2) \quad B(\alpha; q) = \sum_{n=0}^{\infty} \frac{q^{n(n+1)/2} \alpha^n}{(q; q^2)_{n+1}}.$$

We observe

$$A(1; q) = X_R(q) \quad \text{and} \quad qA(q; q) = (1+q)\chi_R(q).$$

$$B(1; q) = \Phi_R(q) \quad \text{and} \quad qB(q; q) = \Psi_R(q).$$

**Lemma 1.**

$$(8.3) \quad A(\alpha; q) + \frac{\alpha^2 q}{1+\alpha q} A(\alpha q; q) - \frac{\alpha^3 q^3}{(1+\alpha q)(1+\alpha q^2)} A(\alpha q^2; q) = 1.$$

*Proof.*

$$\begin{aligned} A(\alpha; q) &= 1 + \sum_{n=1}^{\infty} \frac{(-1)^n q^{n^2} \alpha^{2n}}{(-\alpha q; q)_{2n}} \\ &= 1 - \sum_{n=0}^{\infty} \frac{(-1)^n q^{(n+1)^2} \alpha^{2n+2}}{(-\alpha q; q)_{2n+2}} \\ &= 1 - \frac{q\alpha^2}{1 + \alpha q} \sum_{n=0}^{\infty} \frac{(-1)^n q^{n^2+2n} \alpha^{2n}}{(-\alpha q^2; q)_{2n+1}} \end{aligned}$$

So

$$\begin{aligned} \frac{1 + \alpha q}{q\alpha^2} [A(\alpha q; q) - 1] + A(\alpha q; q) &= q^2 \alpha \sum_{n=0}^{\infty} \frac{(-1)^n q^{n^2+4n} \alpha^{2n}}{(-\alpha q^2; q)_{2n+1}} \\ &= \frac{q^2 \alpha}{1 + \alpha q^2} A(\alpha q^2; q). \end{aligned}$$

Simplifying we obtain the lemma. □

For  $\alpha = 1$ , we have the relation

$$(8.4) \quad A(1; q) + \frac{q}{1 + q} A(q; q) - \frac{q^3}{(1 + q)(1 + q^2)} A(q^2; q) = 1.$$

**Lemma 2.**

$$(8.5) \quad B(\alpha; q) = \alpha q B(\alpha q; q) + q B(\alpha q^2; q) + 1.$$

*Proof.*

$$\begin{aligned} qB(\alpha q; q) &= \sum_{n=0}^{\infty} \frac{q^{(n+1)(n+2)/2}}{(q; q^2)_{n+1}} \alpha^n \\ &= \frac{1}{\alpha} \sum_{n=1}^{\infty} \frac{q^{n(n+1)/2}}{(q; q^2)_n} \alpha^n = \frac{1}{\alpha} \sum_{n=1}^{\infty} \frac{q^{n(n+1)/2}}{(q; q^2)_{n+1}} (1 - q^{2n+1}) \alpha^n \\ &= \frac{1}{\alpha} \sum_{n=0}^{\infty} \frac{q^{n(n+1)/2}}{(q; q^2)_{n+1}} \alpha^n - \frac{q}{\alpha} \sum_{n=0}^{\infty} \frac{q^{(n^2+5n)/2}}{(q; q^2)_{n+1}} \alpha^n - \frac{1}{\alpha} \\ &= \frac{1}{\alpha} B(\alpha; q) - \frac{q}{\alpha} B(\alpha q^2; q) - \frac{1}{\alpha}, \end{aligned}$$

which proves the lemma. □

For  $\alpha = 1$ , we have

$$B(1; q) = qB(q; q) + qB(q^2; q) + 1.$$

CONTINUED FRACTIONS FOR THE MOCK THETA FUNCTIONS

(a) By Lemma 1

$$A(\alpha; q) + \frac{\alpha^2 q}{1 + \alpha q} A(\alpha q; q) - \frac{\alpha^3 q^3}{(1 + \alpha q)(1 + \alpha q^2)} A(\alpha q^2; q) = 1,$$

and we have the continued fraction

$$\begin{aligned} \frac{A(\alpha; q)}{A(\alpha q; q)} &= S(\alpha; q) + \frac{T(\alpha; q)}{\frac{A(\alpha q; q)}{A(\alpha q^2; q)}} \\ &= S(\alpha; q) + \frac{T(\alpha; q)}{S(\alpha q; q) + \frac{T(\alpha q; q)}{\frac{A(\alpha q^2; q)}{A(\alpha q^3; q)}}} \\ &= S(\alpha; q) + \frac{T(\alpha; q)}{S(\alpha q; q) + \frac{T(\alpha q; q)}{S(\alpha q^2; q) + \frac{T(\alpha q^2; q)}{\frac{A(\alpha q^3; q)}{A(\alpha q^4; q)}}}} \end{aligned}$$

where

$$\begin{aligned} S(\alpha; q) &= \left[ \frac{1}{A(\alpha q; q)} - \frac{\alpha^2 q}{(1 + \alpha q)} \right] \\ T(\alpha; q) &= \frac{\alpha^3 q^3}{(1 + \alpha q)(1 + \alpha q^2)} \end{aligned}$$

Putting  $\alpha = 1$ , we have

$$\frac{A(1; q)}{A(q; q)} = S(1; q) + \frac{T(1; q)}{S(q; q) + \frac{T(q; q)}{S(q^2; q) + \frac{T(q^2; q)}{\frac{A(q^3; q)}{A(q^4; q)}}}}$$

But

$$A(1; q) = X_R(q) \quad \text{and} \quad qA(q; q) = (1 + q)\chi_R(q),$$

and so we have the continued fraction representation for the tenth order mock theta functions  $X_R(q)$  and  $\chi_R(q)$ .

$$(8.6) \quad \frac{q}{1+q} \frac{\chi_R(q)}{X_R(q)} = S(1; q) + \frac{T(1; q)}{S(q; q) + \frac{T(q; q)}{S(q^2; q) + \frac{T(q^2; q)}{A(q^3; q)} \frac{A(q^4; q)}}}$$

(b) By Lemma 2

$$(8.7) \quad \begin{aligned} \frac{B(\alpha; q)}{B(\alpha q; q)} &= \left( \alpha q + \frac{1}{B(\alpha q; q)} \right) + \frac{q}{\frac{B(\alpha q; q)}{B(\alpha q^2; q)}} \\ &= S(\alpha; q) + \frac{q}{\frac{B(\alpha q; q)}{B(\alpha q^2; q)}} \\ &= S(\alpha; q) + \frac{q}{S(\alpha q; q) + \frac{q}{\frac{B(\alpha q^2; q)}{B(\alpha q^3; q)}}} \\ &= S(\alpha; q) + \frac{q}{S(\alpha q; q) + \frac{q}{S(\alpha q^2; q) + \frac{q}{\cdot}}} \end{aligned}$$

where

$$S(\alpha; q) = \alpha q + \frac{1}{B(\alpha q; q)}.$$

Putting  $\alpha = 1$ , we have

$$\frac{B(1; q)}{B(q; q)} = S(1; q) + \frac{q}{S(q; q) + \frac{q}{S(q^2; q) + \frac{q}{\cdot}}}$$

But

$$B(1; q) = \Phi_R(q) \quad \text{and} \quad qB(q; q) = \Psi_R(q),$$

and so we have the continued fraction representation for the tenth order mock theta functions  $\Phi_R(q)$  and  $\Psi_R(q)$ .

$$(8.8) \quad \frac{q\Phi_R(q)}{\Psi_R(q)} = S(1; q) + \frac{q}{S(q; q) + \frac{q}{S(q^2; q) + \frac{q}{\ddots}}}$$

**Conclusion.** This study of mock theta functions is interesting in the sense that a mock theta function has been expressed in a series of mock theta function of different order. Moreover we feel that a number theoretic interpretation can be given of these expansions.

#### REFERENCES

- [1] G. E. ANDREWS, *The fifth and seventh order mock theta functions*, Trans. Amer. Math. Soc. **293**(1986), 113–134.
- [2] G. E. ANDREWS, *Ramanujan's fifth order mock theta functions as constant terms*, Ramanujan Revisited (G. E. Andrews, R. A. Askey, B. C. Berndt, K. G. Ramanathan and R. A. Rankin) Academic Press, Boston, 1988, 47–56.
- [3] G. E. ANDREWS AND F. G. GARVAN, *Ramanujan's "Lost" Notebook VI: The mock theta Conjectures*, Adv. in Math. **73**(1989), 242–255.
- [4] G. E. ANDREWS AND D. HICKERSON, *Ramanujan's "Lost" Notebook VII: The sixth order mock theta functions*, Adv. in Math. **89**(1991), 60–105.
- [5] YOUN-SEO CHOI, *Tenth order mock theta functions in Ramanujan's "Lost" Notebook*, Invent. Math. **136**(1999), 497–569.
- [6] S. RAMANUJAN, *"Collected Papers"*, Cambridge University Press, London/New York, 1927 (reprinted by Chelsea, New York).
- [7] D. B. SEARS, *On the transformation theory of basic hypergeometric functions*, Proc. London Math. Soc. **53**(1951), 158–180.
- [8] G. N. WATSON, *The final problem: An account of the mock theta functions*, J. London Math. Soc. **11**(1936), 55–80.
- [9] G. N. WATSON, *The Mock theta functions (2)*, Proc. London Math. Soc. **42**(1937), 274–304.

BHASKAR SRIVASTAVA  
DEPARTMENT OF MATHEMATICS  
LUCKNOW UNIVERSITY  
LUCKNOW, INDIA

(Received February 12, 2004)